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General Instructions:
i)  Approximately 15 minutes is allotted to read the question paper and revise the answers.
ii)  The question paper consists of 24 main questions. All questions are compulsory.
iii) Marks are indicated against each question.
iv)  General choice has been provided in some questions.

N.B: Check that all pages of the question paper is complete as indicated on the top left side.
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Food is essential for all living beings. Without food man cannot live long.
Everyman has to eat a certain quantity of food. If he eats less than that quantity,
his health will fail and he will fallill. So every man has to eat enough food tolive.
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